Linear Equationsax b =¢C (E) Answers
Instructions: Solve each equation for the variable given.

49 + T = 19 7r + 15 = 64 3h + 19 = 55
49 = 12 7r = 49 3h = 36
g = 3 r = 7 h = 12
5x - 9 = 71 of - 48 = 132 5(n + 7 = 67
5x = 80 of = 180 5n = 60
x = 16 f = 20 n = 12
2t - 1 = 31 8¢ + 19 = 67 ok + 7 = 133
2t = 32 8c = 48 ok = 126
t = 16 c = 6 k = 14
10s - 81 = 119 gj + 3 = 107 gt + 20 = 116
10s = 200 g = 104 8t = 96
s = 20 _ j = 13 t = 12
2h + 11 = 39 ot + 1 = 172 4 + 18 = 54
2h = 28 o = 171 | 4 = 36
h = 14 t = 19 j = 9
of - 131 = 22 3m + 13 = 49 10g - 72 = 8
of = 153 3m = 36 10g = 80
f = 17 m = 12 g = 8
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Linear Equations ax + b = ¢ (D) Answers
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Instructions: Solve each equation for the variable given.

10c + 5
10¢
C
2s - 1
2s
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9 + 20
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6t - 17
6t
t
dn + 7
4n
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